o(d dxy) (cm)

Ratios

o(d dz) (cm)

H

=

: P : : :
R L I B :-'-"""""_é_"'""-':"-'
DR e g = ® g% e T 2 3
- gl e T =l s 5 *! -
: &

|

|_\

NOTN

# ++++++ +++ ++++ +++++++++ +++++++

3 2 1 0 1 2 3

'—3—2—16iéé

—=— DQM_V0001_R000000001__Global__cmssw1000time__RECO mline)
—e— DQM_V0001_R000000001__Global__mkFitNewOLD1000time_ RECO
—«— DQM_V0001_R000000001__Global__mkFitNewBins2DC1000time__RECO

..........................................................................

]

o p_/p.)

- - oae & ' :
Ll el e AT g *1-"'*--*--* »

(_w

14’+++ + +++ ++++++ +++ +++ + ++ <H»_ _++~,+

Rati

* A ++ m + et ++++++ +++++++ . +++

H
.I. -

--‘3—‘2-‘16 ‘1 éé
TP ® (PCA to beamline)

'—‘3—‘2—‘16‘12‘9‘,

TP ® (PCA to beamline)



	Contents
	Page 1


